CRG PARTS LIST 2025

RIMS
16
12

ES COD ITEMS ITEMS PRICE (F#)
1 FKO0.04624 Aluminum wet rims set H130-H180
2 FKO0.01201 Aluminum rims set H110 - H140
3 FMO0.00455 Al. Rear Rim H110 Mini Complete
4 FMO0.01186 J7#H4—-I AL H140 Al. Rear Rim H140 Mini Complete ¥ 16,060
5 FMO0.04572 78Ybk4—l AL H132 Al front rim H132 + screws CRG compl ¥ 17,820
6 FMO0.04573 )7H4—Ib AL H180 Al. rear rim H180 + screws CRG compl. ¥ 18,150
7 FKO0.05426 KM =ltyk MAG H132-H212 R2 MG rims set H132-H212 R2.0 CRG ¥ 82,280
8 FMO0.05196 70Ybk4—Il MAG H132 R2 MG front rim H132 R2.0 CRG compl STD ¥ 18,700
9 FMO0.05197 74—k MAG H212 R2 MG rear rim H212 R2.0 CRG compl STD ¥ 22,440
10 FKO0.05442 K{—=ltyh MAG H120-H145 R2 MINI MG rims set H120-H150 R2.0 CRG mini ¥ 77,440
11 FMO0.05289 7AvkR =l MAG H120 R2 MG front rim H120 R2.0 CRG compl. mini ! ¥ 18,590
12 FMO0.05290 J7H4—1 MAG H145 R2 MG rear rim H150 R2.0 CRG compl. mini S ¥ 20,130
13 CRG.00173 M 5x12 wheel screw assay + or ¥ 660

AFS.00173 E=bAby - M 5x 12 Wheel Screw ¥ 506

AFN.00172 E—bRRyN— F-YY° O-Ring for Wheels ¥ 154
14 AFS.02649 F1-7' VAN Tubless Valve ¥ 330
15 AFN.00008 K =MATVUY" 600322 Bearing 6003 Front Hub ¥ 660
16 FMO0.00857 Rear MG H180 rim CRG black matte comp ¥ 21,780

AERmO - R FEKERTHHENHYET 44



CRG PARTS LIST 2025

FRONT WHEEL HUBS

ES COD ITEMS ITEMS PRICE (F#)

1 FMN.00840 Front hub DD 17 short complete

2 FMG.00840 78Ykk{—In7" 100 D17 Short GOLD Front hub OKJ 17 short gold complete ¥ 14,300

3 FMN.05666 Front hub KZ 40x80 R2.0 al. black compl

4 FMG.05666 7RAVMEA—IN7" KZ D40X80 R2 Front hub KZ 40x80 R2.0 alu. gold compl. ¥ 26,400

5 AFS.05688 Front hub KZ 40x96 R2.0 magn.

6 FMN.05664 Front hub Kf 25x80 R2.0 alu. black compl.

7 FMG.05664 Front hub Kf 25x80 R2.0 alu. gold compl.

8 AFS.05685 MAG 7RV {—In7" 25x82 R2 Front hub OK 25x82 R2.0 magn ¥ 28,050

9 AFS.05686 MAG 70vhR{—bn7" 25x93 R2 Front hub OK 25x93 R2.0 magn ¥ 28,050

10 FMG.05452 Alu front hub 17 med double bearing com| ¥ 14,300

11 AFS.05687 MAG 70YkR{—n7" KZ DA0x80 R2 Magnesium front hub KZ 40x80 R2.0 MG ¥ 28,050

12 AFN.00008 F-LATYUH" 600322 Bearing 6003 Front Hub ¥ 660
FAVEAT ATYYY 69052Z D25 Bearing front hub @25 ¥ 1,320
JAVMNTATYVY 6805ZZ D25 Bearing 6805 Front Wheel Hub @25 ¥ 1,320

13 AFS.00126 KA=n7 R4y K VW M8 Prisoner M8 ¥ 330

14 AFN.05230 High flanged self-locking M8 nut

AERmO - R FEKERTHHENHYET 45



CRG PARTS LIST 2025

REAR WHEEL HUBS BLACK

1 '_‘vn‘, ']

gy
“

ES COD ITEMS ITEMS PRICE (F#A)
1 FMN.00568 7H4—Ibn7" 25x40 Black Rear Wheel Hub 25x 40 Black Comp. ¥ 12,320
2 FMN.00851 N7H4—In7" 25x75 Black Rear Wheel Hub 25x 75 Black Comp. ¥ 12,980
3 FMN.00930 J7k4—1n7" 30x35 Black Rear Wheel Hub 30x 40 Black Comp. ¥ 12,320
4 FMN.00850 N7H4—In7" 30x40 Black Rear Wheel Hub 30x 40 Black Comp. ¥ 12,320
5 FMN.00735 YPH4—In7" 30x75 Black Rear Wheel Hub 30x 75 Black Comp. ¥ 12,980
6 FMN.04160 Rear Wheel Hub 40x125 Black 2screw Cor ¥ 16,940

AERmO - R FEKERTHHENHYET 46



CRG PARTS LIST 2025

REAR WHEEL HUBS MG

s

-,

o)

ES COD ITEMS ITEMS PRICE (i)
1 FMG.00851 Y7h4—In7" 25x75 GOLD Al. Rear Wheel Hub 25x 75 Gold Comp. ¥ 12,980
2 FMG.00930 7H4-Ibn7" 30x35 GOLD Al. Rear Wheel Hub 30x 35 Gold Comp. ¥ 12,320
3 FMG.00850 7HR4—=bnn7" 30x40 GOLD Al. Rear Wheel Hub 30x 40 Gold Comp. ¥ 12,320
4 FMG.06194 Al. Rear Wheel Hub 40x 105 R-Line
5 FMG.05539 Magnesium rear hub 50x85 R2.0 alu gold compl.

6 AFS.05689 MAG J7H4—-Ibn7’ 50x95 R2 Magnesium rear hub 50x95 R 2.0 ¥ 28,050
7 FMG.05540 Magnesium rear hub 50x95 R2.0 alu gold compl

8 AFS.05690 MAG Y7h4—bn7’ 50x105 R-LINE/2H Magnesium rear hub 50x105 R2.0 2 screw. ¥ 31,900
9 FMG.05541 Mag. rear hub 50x105 R2.0 alu flang gold compl. 2 scr.

10 AFS.03696 MAG J7#4—In7" 50x115 R-LINE Magn. Rear Hub 50x 115 R-Line ¥ 29,040
11 AFS.03477 MAG J7#k4—Jbn7" 50x120 R-LINE Magn. Rear Hub 50x 120 R-Line ¥ 29,480
12 AFS.04155 MAG YF7h4—Ibn7’ 50x120 2S R-LINE Magn. Rear Hub 50x 120 R-Line 2 Screws ¥ 36,520
13 FMG.02659 DWT Y7Kq4—In7" Mag 50x116 3screw MG Rear Hub 50X116 3 Screws ¥ 42,240
14 AFS.00126 FA=nT 299K Wk M8 Prisoner M8 ¥ 330
15 AFN.05230 High flanged self-locking M8 nut
16 AFN.02640 12" M6X16 Grub screw M6x16 std ¥ 770

EROLH- MRS FPELGCERTPHENHYET 47



CRG PARTS LIST 2025

SPROCKET HUBS

ES COD ITEMS ITEMS PRICE (F#)
1 FMN.00569 A7°0frypn7" D25 Black Ring Carrier Puffo 25 ¥ 17,600
2 FMG.G0569 A7°Rybn7” D25 GOLD Ring Carrier 25 Gold ¥ 17,600
3 FMG.G0736 A7°0frypn7" D30 GOLD Ring Carrier 30 Gold Complete ¥ 17,600
4 FMN.00445 A7°'Bryin7" D40 Black Ring Carrier DD 40 Complete ¥ 17,600
5 FMG.04998 Sprocket carrier 50 R-Line econom. comp ¥ 18,700
6 FMN.04998 Sprocket carrier 50 R-Line econom. comp ¥ 18,700
7 AFS.03415 MAG W A7°Bryhn7" D50 R-LINE Ring Carrier 50 R-Line MG ¥ 22,000
8 AFN.02154 M 6x 35 Socket Head Screw 12.9
9 AFN.06156 Washer 6,5-10x1 inox ¥ 55

BRAKE DISC HUBS
2 3 4
R 2

ES COD ITEMS ITEMS PRICE (F#A)
1 AFN.00008 K-MATYVY" 600322 Bearing 6003 Front Hub ¥ 660
2 FAVEAT ATYVYT 690527 D25 Bearing front hub @25 ¥ 1,320
3 AFN.00137 NYNY4-VK b M6x35 M 6 x 35 Socket Head Screw ¥ 110
4  AFN.06156 Washer 6,5-10x1 inox
5 SAN.01893 V05 F7'L—#7'1A91n7" D25 KZ Alu Front B.Disc Hub V05 ¥ 23,100

FMN.01893 V05 F7'b—%74A91n7° D25 KZ Comp Alu. front brake disc hub V05 KZ 25 comp ¥ 26,400

AERmO - R FEKERTHHENHYET

48



CRG PARTS LIST 2025

BRAKE DISC HUBS

13 |ii

ES COD ITEMS ITEMS PRICE (%)
6 FMO0.00835 Rear Brake Disc Hub Up 25

7 FMN.00838 Rear Brake Disc Hub NA/V04 25 Al

8 FMN.00748 Rear Brake Disc Hub NA/V04 30 All.

9 FMN.04918 Alu. Rear Brake Disc Hub 40 R-line compl

10 FMO0.04299 V11 Y77 b—%F1A91n7° D50 3P 180 Rear disc hub 50 aluminum UP no screws ¥ 15,400
11 FMN.06224 Rear disc hub alu. 50 R2.1 complete ¥ 24,200
12 FMG.06224 77’ L—%T 12917 D50 R-LINE R2 Rear disc hub alu. 50 R2.1 gold complete ¥ 24,200
13 FMG.04918 Alu. Rear Brake Disc Hub 40 R-line compl ¥ 15,400
14 FMG.G0748 77 V—%F (297" Mini D30 GOLD Al.Rear Brake Disc Hub Mini 30 Gold Com ¥ 16,500

AERmO - R FEKERTHHENHYET 49



